Bid Tabulation Packet for Solicitation TEC2124576G1

Microsoft Software Products (Sourcewell 081419)

Bid Designation: Private



Bid #TEC2124576G1 - Microsoft Software Products (Sourcewell 081419)

Creation Date Apr 8, 2022 End Date Apr 22, 2022 2:00:00 PM EDT

Start Date Apr 14, 2022 1:44:20 PM EDT Awarded Date Not Yet Awarded

TEC2124576G1–01-01 Microsoft Software Products: AAA-35418 - Azure Monetary Commitment Provision										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SHI International Corp		First Offer - \$0.00	1 / year	\$0.00						
Product Code: Supplier Product Code:										
Agency Notes:			Supplier Notes:							
			âœSHI is responding to this RFP under the terms of Sourcewell Contract							
			#081419-SHI. The terms	of Contract Sourcewell	Contract #08	1419-SHI				
			will supersede the terms	s and conditions of the R	FP.â					
CDW-Government LLC		First Offer - \$0.00	1 / year	\$0.00						
Product Code:			Supplier Product Code	:						
Agency Notes:			Supplier Notes:							

TEC2124576G1–01-02 Microsoft Software Pro	EC2124576G1–01-02 Microsoft Software Products: J5U-00004 - AzureprepaymentG ShrdSvr ALNG SubsVL MVL Commit Provision									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SHI International Corp		First Offer - \$0.00	1 / year	\$0.00						
Product Code: Supplier Product Code:										
Agency Notes:			Supplier Notes:							
			âœSHI is responding to this RFP under the terms of Sourcewell Contract							
			#081419-SHI. The terms of Contract Sourcewell Contract #081419-SHI							
			will supersede the term:	s and conditions of the R	FP.â					
CDW-Government LLC		First Offer - \$0.00	1/year	\$0.00						
Product Code:			Supplier Product Code	:	·					
Agency Notes:			Supplier Notes:							

TEC2124576G1–01-03 Microsoft Software Products: NYH-00001 - Audio Conferencing Select Dial Out GCC Sub Add-on \$0								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$0.00	595 / year	\$0.00					
Product Code: Agency Notes:		Sourcewell Contract #08	s: s responding to this RFP 31419-SHI. The terms of vill supersede the terms of	Contract Soc	ırcewell			
CDW-Government LLC	First Offer - \$0.00	595 / year	\$0.00					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

TEC2124576G1–01-04 Microsoft Software P	TEC2124576G1–01-04 Microsoft Software Products: AAD-34700 - M365 E3 FromSA GCC Unified ShrdSvr Alng SubsVL MVL Per User								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SHI International Corp	First Offer - \$328.54	400 / year	\$131,416.00						
Product Code:		Supplier Product Code	: :						
Agency Notes:	Supplier Notes:								
		åœSHI is responding to this RFP under the terms of Sourcewell Contract							
		#081419-SHI. The terms of Contract Sourcewell Contract #081419-SHI							
		will supersede the term	s and conditions of the I	RFP.â					
CDW-Government LLC	First Offer - \$329.72	400 / year	\$131,888.00						
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

TEC2124576G1–01-05 Microsoft Software Products: AAD-34704 - M365 E3 GCC Unified ShrdSvr Alng SubsVL MVL Per User									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CDW-Government LLC	First Offer - \$386.51	195 / year	\$75,369.45						
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
SHI International Corp	First Offer - \$392.95	195 / year	\$76,625.25						
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
	âαSHI is responding to this RFP under the terms of Sourcewell Contrac			ell Contract					
		#081419-SHI. The terms of Contract Sourcewell Contract #081419-SHI							
		will supersede the terms and conditions of the RFP.â							

TEC2124576G1–01-06 Microsoft Software Products: AAL-45735 - M365 E5 GCC Unified ShrdSvr Alng SubsVL MVL Per User									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SHI International Corp	First Offer - \$270.96	25 / year	\$6,774.00						
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
		âαSHI is responding to this RFP under the terms of Sourcewell Contract							
		#081419-SHI. The term:	s of Contract Sourcewell	Contract #0	81419-SHI				
		will supersede the term	is and conditions of the I	RFP.â					
CDW-Government LLC	First Offer - \$623.78	25 / year	\$15,594.50						
Product Code:		Supplier Product Code	2 :						
Agency Notes:		Supplier Notes:							

TEC2124576G1–01-07 Microsoft Software Products: SDY-00001 - Power Apps Portal Login T1 GCC Sub Add-on										
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch.								
SHI International Corp	First Offer - \$2,188.60	1 / year	\$2,188.60							
Product Code:		Supplier Product Code:								
Agency Notes:	Supplier Notes:									
		âœSHI is responding to this RFP under the terms of Sourcewell								
		Contract #081419-SHI.	The terms of Contract S	ourcewell C	ontract					
		#081419-SHI will super	sede the terms and con	ditions of th	e RFP.â					
CDW-Government LLC	First Offer - \$2,191.75	1 / year	\$2,191.75							
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								

TEC2124576G1–01-08 Microsoft Software Products: J8S-00003 - Power Apps Per App GCC Sub 1 App or Portal										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
SHI International Corp	First Offer - \$54.72	10 / year	\$547.20							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: â ₀ SHI is responding to this RFP under the terms of Sourcewell Contract #081419-SHI. The terms of Contract Sourcewell Contract #081419-SHI will supersede the terms and conditions of the RFP.â								
CDW-Government LLC Product Code: Agency Notes:	First Offer - \$54.91	10 / year Supplier Product Code Supplier Notes:	\$549.10 ::							

TEC2124576G1–01-09 Microsoft Software Products: SEL-00001- PowerAppsPlanGCC ShrdSvr ALNG SubsVL MVL PerUser										
Supplier	Unit Price Qty/Unit Total Price Attch.									
SHI International Corp	First Offer - \$218.86	10 / year	\$2,188.60							
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

	County Conn			
	âœSHI is responding to t	this RFP under the terms	of Sourcewell Capperacof 19	
		s of Contract Sourcewell		
		will supersede the term	ns and conditions of the F	RFP.â
CDW-Government LLC	First Offer - \$219.65	10 / year	\$2,196.50	
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

TEC2124576G1–01-10 Microsoft Software Products: 7E7-00001 - Project Plan 3 GCC FromSA										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SHI International Corp		First Offer - \$237.26	50 / year	\$11,863.00						
Product Code: Agency Notes:			Sourcewell Contract #0	e: is responding to this RFF 81419-SHI. The terms of vill supersede the terms	Contract So	urcewell				
CDW-Government LLC		First Offer - \$238.12	50 / year	\$11,906.00						
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		-				

TEC2124576G1–01-11 Microsoft Software Products: 9K4-00003 - Visio Plan 2 GCC FromSA										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
SHI International Corp	First Offer - \$118.63	54 / year	\$6,406.02							
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
CDW-Government LLC	First Offer - \$119.06	54 / year	\$6,429.24							
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								

1ECZ1245/0G1-U1-12 MICROSOTT SOftware I			TEC2124576G1–01-12 Microsoft Software Products: H04-00268 - SharePoint Server ALng SA							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
SHI International Corp	First Offer - \$1,251.48	11 / year	\$13,766.28							
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							
CDW-Government LLC	First Offer - \$1,253.24	11 / year	\$13,785.64							
Agency Notes:			n SharePoint servers are y come free of charge wi	_	_					

TEC2124576G1-01-13 Microsoft Software Products: 359-00961 - SQLCAL ALNG SA MVL UsrCAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CDW-Government LLC	Alt 1 - \$33.32	50 / year	\$1,666.00					
Product Code:	Product Code:			Supplier Product Code:				
Agency Notes: Supplier Notes:								
		This can be moved to a SCE with the rest of SQL licensing.						

	·			Page 5 of 19
SHI International Corp	First Offer - \$34.94	50 / year	\$1,747.00	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :	
CDW-Government LLC	First Offer - \$35.07	50 / year	\$1,753.50	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:): 	

TEC2124576G1–01-14 Microsoft Software Products: 810-04760 - SQLSvrEnt ALNG SA MVL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
5HI International Corp	First Offer - \$1,437.76	2/year	\$2,875.52						
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:						
CDW-Government LLC	First Offer - \$1,442.94	2/year	\$2,885.88						
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: This can also go on SCE							

TEC2124576G1–01-15 Microsoft Software Products: 228-04433 - SQLSvrStd ALNG SA MVL								
Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Alt 1 - \$143.27	8 / year	\$1,146.16						
	Supplier Product Code	2:						
	Supplier Notes:							
	This can be moved to a	SCE with the rest of SQL	licensing.					
First Offer - \$150.22	8 / year	\$1,201.76						
	Supplier Product Code	:						
	Supplier Notes:							
First Offer - \$150.76	8 / year	\$1,206.08						
	Supplier Product Code	<u> </u>						
	Supplier Notes:							
	Unit Price Alt 1 - \$143.27	Unit Price Qty/Unit 8 / year Supplier Product Code Supplier Notes: This can be moved to a First Offer - \$150.22 8 / year Supplier Product Code Supplier Product Code Supplier Notes: First Offer - \$150.76 8 / year Supplier Product Code Supplier Pro	Unit Price Qty/Unit Total Price Alt 1 - \$143.27 8 / year \$1,146.16 Supplier Product Code: Supplier Notes: This can be moved to a SCE with the rest of SQL First Offer - \$150.22 8 / year \$1,201.76 Supplier Product Code: Supplier Notes: First Offer - \$150.76 8 / year \$1,206.08 Supplier Product Code: Supplier Product Code: \$1,206.08 Supp	Unit Price Qty/Unit Total Price Attch. Alt 1 - \$143.27 8 / year \$1,146.16 Supplier Product Code: Supplier Notes: This can be moved to a SCE with the rest of SQL licensing. First Offer - \$150.22 8 / year \$1,201.76 Supplier Product Code: Supplier Notes: First Offer - \$150.76 8 / year \$1,206.08 Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:				

TEC2124576G1–01-16 Microsoft Software Products: 7JQ-00343 - SQLSvrEntCore ALNG SA MVL 2Lic CoreLic							
Supplier	Unit Price	re Qty/Unit Total Price Attch.					
CDW-Government LLC	Alt 1 - \$2,193.61	6 / year	\$13,161.66				
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
		This can be moved to a	SCE with the rest of SQI	L licensing.			
SHI International Corp	First Offer - \$2,300.77	6 / year	\$13,804.62				
Product Code:	-	Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$2,309.05	6 / year	\$13,854.30				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				

TEC2124576G1–01-17 Microsoft Software Products: 7NQ-00292 - SQLSvrStdCore ALNG SA MVL 2Lic CoreLic							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CDW-Government LLC	Alt 1 - \$572.08	20 / year	\$11,441.60				
Product Code:		Supplier Product Code	: :				
Agency Notes:		Supplier Notes:					
		This can be moved to a	SCE with the rest of SQL	licensing.			
CDW-Government LLC	First Offer - \$572.13	20 / year	\$11,442.60				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SHI International Corp	First Offer - \$600.00	20 / year	\$12,000.00				
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					

TEC2124576G1-01-18 Microsoft Software Products: QEJ-00003 - VSEntSubw/GHEnt ALNG SA MVL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$1,097.41	5 / year	\$5,487.05				
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$1,101.36	5 / year	\$5,506.80				
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

TEC2124576G1–01-19 Microsoft Software Products: 9GS-00135 - CIS Suite Datacenter Core ALng SA 2L							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CDW-Government LLC	Alt 1 - \$162.24	72 / year	\$11,681.28				
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					

					
		This can be moved to a	licensing. Page 7 of		
SHI International Corp	First Offer - \$170.11	72 / year	\$12,247.92		
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
CDW-Government LLC	First Offer - \$170.73	72 / year	\$12,292.56		
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

TEC2124576G1-01-20 Microsoft Software Products: 9GA-00313 - CIS Suite Standard Core ALng SA 2L								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CDW-Government LLC	Alt 1 - \$34.82	240 / year	\$8,356.80					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: This can be moved to a !		censing.				
SHI International Corp	First Offer - \$36.44	240 / year	\$8,745.60					
		Supplier Product Code: Supplier Notes:						
CDW-Government LLC	First Offer - \$36.57	240 / year	\$8,776.80					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

TEC2124576G1–01-21 Microsoft Software Products: 9EA-00278 - Win Server DC Core ALng SA 2L								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$128.83	24 / year	\$3,091.92					
		Supplier Product Code Supplier Notes:	: :					
CDW-Government LLC	First Offer - \$129.29	24 / year	\$3,102.96					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
CDW-Government LLC	Alt 1 - \$206.00	24 / year	\$4,944.00					
Product Code: Agency Notes:		Supplier Product Code: 9GS-00735 Supplier Notes: Per the answers to the questions we asked, these Windows Servers should also be licensed with System Center DC. When you update to the CIS SKU you should move this to an SCE with CIS.						

TEC2124576G1–01-22 Microsoft Software Products: 9EM-00270 - Win Server Standard Core ALng SA 2L								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$19.77	16 / year	\$316.32					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$19.84	16 / year	\$317.44					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

TEC2124576G1

Exhibit 1

CDW-Government LLC	Alt 1 - \$52.12	16 / year	\$833.92	Page 8 of 19
Product Code:		Supplier Product Code	: 9GA-00611	
Agency Notes:		Supplier Notes:		
		Per the answers to the c should also be licensed to the CIS SKU you shou	with System Center DC.	When you update that

TEC2124576G1–02-01 Microsoft EA No. 80215742 - Upgrade: 269-12442 - OfficeProPlus ALNG SA MVL Pltfrm								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$97.24	225 / each	\$21,879.00					
Product Code:		Supplier Product Code	::					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$97.59	225 / each	\$21,957.75					
Product Code:		Supplier Product Code	::					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-02 Microsoft EA No. 80215742 - Upgrade: KV3-00353 - WINENTperDVC ALNG SA MVL Pltfrm								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$43.15	225 / each	\$9,708.75					
Product Code:		Supplier Product Code	::					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$43.31	225 / each	\$9,744.75					
Product Code:		Supplier Product Code	::					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-03 Microsoft EA No. 80215742 - Upgrade: W06-01069 - CoreCAL ALNG SA MVL Pltfrm DvcCAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$35.56	225 / each	\$8,001.00					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$35.69	225 / each	\$8,030.25					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-04 Microsoft EA No. 80215742 - Upgrade: 076-01912 - Prjct Std ALNG SA MVL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$119.63	14 / each	\$1,674.82					
Product Code:		Supplier Product Code	e :					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$120.06	14 / each	\$1,680.84					
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-05 Microsoft EA No. 80215742 - Upgrade: H30-00238 - PrjctPro ALNG SA MVL w1PrjctSvrCAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$197.22	60 / each	\$11,833.20					
Product Code:		Supplier Product Code	e :					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$197.93	60 / each	\$11,875.80					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-06 Microsoft EA No. 80215742 - Upgrade: D87-01159 - VisioPro ALNG SA MVL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$102.47	130 / each	\$13,321.10					
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$102.84	130 / each	\$13,369.20					
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-07 Microsoft EA No. 80215742 - Upgrade: D86-01253 - VisioStd ALNG SA MVL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$52.85	12 / each	\$634.20					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$53.04	12 / each	\$636.48					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-08 Microsoft EA No. 80215742 - Upgrade: 395-02504 - ExchgSvrEnt ALNG SA MVL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$741.76	7 / each	\$5,192.32					
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$744.43	7 / each	\$5,211.01					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-09 Microsoft EA No. 80215742 - Upgrade: H22-00475 - PrjctSvr ALNG SA MVL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$1,037.47	2 / each	\$2,074.94					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$1,041.21	2 / each	\$2,082.42					
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-10 Microsoft EA No. 80215742 - Upgrade: H21-00420 - PrjctSvrCAL ALNG SA MVL DvcCAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$30.72	113 / each	\$3,471.36					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$30.83	113 / each	\$3,483.79					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-11 Microsoft EA No. 80215742 - Upgrade: 5HU-00216 - SfBSvr ALNG SA MVL									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do							
SHI International Corp	First Offer - \$667.65	4 / each	\$2,670.60						
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
CDW-Government LLC	First Offer - \$670.05	4 / each	\$2,680.20						
Product Code:		Supplier Product Code	2:						

Agency Notes: Supplier Notes:

TEC2124576G1–02-12 Microsoft EA No. 80215742 - Upgrade: 6VC-01253 - WinRmtDsktpSrvcsCAL ALNG SA MVL DvcCAL								
Supplier	Unit Price	e Qty/Unit Total Price Attch. Docs						
SHI International Corp	First Offer - \$18.40	600 / each	\$11,040.00					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$18.47	600 / each	\$11,082.00					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-13 Microsoft EA No. 80215742 - Upgrade: 6VC-01254 - WinRmtDsktpSrvcsCAL ALNG SA MVL UsrCAL								
Supplier	Unit Price	e Qty/Unit Total Price Attch. Docs						
SHI International Corp	First Offer - \$22.13	555 / each	\$12,282.15					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$22.21	555 / each	\$12,326.55					
Product Code:	•	Supplier Product Code	:		-			
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-14 Microsoft EA No. 80215742 - Upgrade: AAD-34700 - M365 E3 FromSA GCC Unified ShrdSvr Alng SubsVL MVL Per User									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SHI International Corp	First Offer - \$298.69	3900 / each	\$1,164,891.00						
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
CDW-Government LLC	First Offer - \$299.77	3900 / each	\$1,169,103.00						
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

TEC2124576G1-02-15 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit Total Price Attch. Doo						
SHI International Corp	First Offer - \$139.52	4 / each	\$558.08					
Product Code:		Supplier Product Code	9 :					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	4 / each	\$560.12					
Product Code:		Supplier Product Code	2 :					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-16 Microsoft EA No. 80215742 - Upgrade: 4ZF-00019 - WINVDAPerDvc ALNG SubsVL MVL PerDvc								
Supplier	Unit Price	e Qty/Unit Total Price Attch. Docs						
SHI International Corp	First Offer - \$100.10	420 / each	\$42,042.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$100.46	420 / each	\$42,193.20					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-17 Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CDW-Government LLC	Alt 1 - \$0.00	100 / each	\$0.00					
Product Code:		Supplier Product Code: NYH-00001						
Agency Notes:		Supplier Notes:						
	Free version is now available. license reduction should be submitted f							

	County Com			EXHIDIL
	all paid versions and repevery other G3 and F3 L		plus free versi ିନ ହି ଟି ¹¹ of ¹⁹	
SHI International Corp	First Offer - \$42.24	100 / each	\$4,224.00	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	
CDW-Government LLC	First Offer - \$42.24	100 / each	\$4,224.00	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	

TEC2124576G1-02-18 Microsoft EA No. 80215742 - Upgrade: 4ES-00001 - ExchOnInArchGCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$26.36	1550 / each	\$40,858.00					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$26.46	1550 / each	\$41,013.00					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-19 Microsoft EA No. 80215742 - Upgrade: AAD-63092 - M365 F3 GCC Unified ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$105.82	1700 / each	\$179,894.00					
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$106.20	1700 / each	\$180,540.00					
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-20 Microsoft EA No. 80215742 - Upgrade: 7MS-00001 - Project Plan3 GCC Shared All Lng Subs VL MVL Per User								
Supplier	Unit Price	Qty/Unit Total Price Attch. Doc						
SHI International Corp	First Offer - \$279.05	9 / each	\$2,511.45					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$280.05	9 / each	\$2,520.45					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-21 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - Microsoft Visio Pro for Office 365 - See Description								
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc						
SHI International Corp	First Offer - \$139.52	2 / each	\$279.04					
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	2 / each	\$280.06					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-22 Microsoft EA No. 80215742 - Upgrade: DDJ-00001 - PwrBIProGCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CDW-Government LLC	First Offer - \$92.23	10 / each	\$922.30					
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
SHI International Corp	First Offer - \$92.89	10 / each	\$928.90					
Product Code:		Supplier Product Code	:					

Agency Notes:

TEC2124576G1–02-23 Microsoft EA No. 80215742 - Upgrade: 7MS-00001 - Microsoft Project Online Professional - See Description								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$279.05	5 / each	\$1,395.25					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
CDW-Government LLC	First Offer - \$280.05	5 / each	\$1,400.25					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					

TEC2124576G1–02-24 Microsoft EA No. 80215742 - Upgrade: AAD-34699-M365 E3 GCC Unified STP frm M365 F3 GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$250.07	150 / each	\$37,510.50					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$250.97	150 / each	\$37,645.50					
Product Code:		Supplier Product Code):					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-25 Microsoft EA No. 8021	EC2124576G1-02-25 Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CDW-Government LLC	Alt 1 - \$0.00	12 / each	\$0.00					
Product Code:		Supplier Product Code	: NYH-00001					
Agency Notes:		Supplier Notes:						
		Free version is now available. license reduction should be submitted fo all paid versions and replaced with free version plus free version for every other G3 and F3 user.						
SHI International Corp	First Offer - \$42.24	12 / each	\$506.88					
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$42.24	12 / each	\$506.88					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-26 Microsoft EA No. 8021	EC2124576G1–02-26 Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CDW-Government LLC	Alt 1 - \$0.00	8 / each	\$0.00						
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Free version is now avai all paid versions and rep every other G3 and F3 u	lable. license reduction s blaced with free version _l						

Agency Notes:			Supplier Notes:			
Product Code:			Supplier Product Code:			
CDW-Government LLC		First Offer - \$42.24	8 / each	\$337.92		
Agency Notes:			Supplier Notes:			
Product Code:			Supplier Product Code	:		
SHI International Corp		First Offer - \$42.24	8 / each	\$337.92		Page 13 of 19

FEC2124576G1–02-27 Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CDW-Government LLC	Alt 1 - \$0.00	1 / each	\$0.00				
Product Code: Agency Notes:	Supplier Product Code: NYH-00001 Supplier Notes: Free version is now available. license reduction should be submitted for all paid versions and replaced with free version plus free version for every other G3 and F3 user.						
SHI International Corp	First Offer - \$42.24	1 / each	\$42.24				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
CDW-Government LLC	First Offer - \$42.24	1 / each	\$42.24				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						

FEC2124576G1–02-28 Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CDW-Government LLC	Alt 1 - \$0.00	15 / each	\$0.00				
Product Code: Agency Notes:	Supplier Product Code: NYH-00001 Supplier Notes: Free version is now available. license reduction should be submitted for all paid versions and replaced with free version plus free version for every other G3 and F3 user.						
SHI International Corp	First Offer - \$42.24	15 / each	\$633.60				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::				
CDW-Government LLC	First Offer - \$42.24	15 / each	\$633.60				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				

TEC2124576G1–02-29 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$139.52	3 / each	\$418.56					
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	3 / each	\$420.09					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-30	Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr	
120212107001 0200	microsoft Extrict control in oppidate into coot i stadiocomic control state bassin interior	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Page 14 of
CDW-Government LLC	Alt 1 - \$0.00	1 / each	\$0.00		
Product Code:		Supplier Product Code	: NYH-00001		
Agency Notes:	Free version is now avai all paid versions and rep every other G3 and F3 u	olaced with free version			
SHI International Corp	First Offer - \$42.24	1 / each	\$42.24		
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
CDW-Government LLC	First Offer - \$42.24	1 / each	\$42.24		
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

TEC2124576G1–02-31 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$139.52	6 / each	\$837.12					
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	6 / each	\$840.18					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-32 Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CDW-Government LLC	Alt 1 - \$0.00	2 / each	\$0.00					
Product Code: Agency Notes:		Supplier Product Code: NYH-00001 Supplier Notes: Free version is now available. license reduction should be submitted for all paid versions and replaced with free version plus free version for every other G3 and F3 user.						
SHI International Corp	First Offer - \$42.24	2 / each	\$84.48					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
CDW-Government LLC	First Offer - \$42.24	2 / each	\$84.48					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

TEC2124576G1-02-33 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$139.52	3 / each	\$418.56					
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	3 / each	\$420.09					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-34 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$139.52	10 / each	\$1,395.20				

Product Code:		Supplier Product Code	e:	Page 15 of 19
Agency Notes:		Supplier Notes:		
CDW-Government LLC	First Offer - \$140.03	10 / each	\$1,400.30	
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

TEC2124576G1-02-35 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$139.52	4 / each	\$558.08					
Product Code: Supplier Product Code:		e:						
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	4 / each	\$560.12					
Product Code:		Supplier Product Code):					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-36 Microsoft EA No. 80215742 - Upgrade: 7MS-00001 - Microsoft Project Online Professional - See Description								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$279.05	2 / each	\$558.10					
Product Code:		Supplier Product Code	.					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$280.05	2 / each	\$560.10					
Product Code:		Supplier Product Code	<u>:</u>					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-37 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$139.52	2 / each	\$279.04					
Product Code:		Supplier Product Code	2 :					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	2 / each	\$280.06					
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-38 Microsoft EA No. 80215742 - Upgrade: AAD-34704 - M365 E3 GCC Unified ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$357.26	700 / each	\$250,082.00					
Product Code:		Supplier Product Code	3 :					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$358.55	700 / each	\$250,985.00					
Product Code:		Supplier Product Code	2 :					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-39 Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CDW-Government LLC	Alt 1 - \$0.00	32 / each	\$0.00					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Free version is now avai all paid versions and rep every other G3 and F3 u	lable. license reduction s blaced with free version _l					
SHI International Corp	First Offer - \$42.24	32 / each	\$1,351.68					

Product Code:	·	Supplier Product Code	e:	Page 16 of 1
Agency Notes:		Supplier Notes:		
CDW-Government LLC	First Offer - \$42.24	32 / each	\$1,351.68	
Product Code:		Supplier Product Code	<u>:</u>	
Agency Notes:		Supplier Notes:		

TEC2124576G1-02-40 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$139.52	3 / each	\$418.56					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	3 / each	\$420.09					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1-02-41 Microsoft EA No. 80215742 - Upgrade: P3U-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SHI International Corp	First Offer - \$139.52	3 / each	\$418.56					
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
CDW-Government LLC	First Offer - \$140.03	3 / each	\$420.09					
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

TEC2124576G1–02-42 Microsoft EA No. 80215742 - Upgrade: LK3-00001 - AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CDW-Government LLC	Alt 1 - \$0.00	5 / each	\$0.00			
Product Code: Agency Notes:		Supplier Product Code: NYH-00001 Supplier Notes: Free version is now available. license reduction should be submitted for all paid versions and replaced with free version plus free version for every other G3 and F3 user.				
SHI International Corp	First Offer - \$42.24	5 / each	\$211.20			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
CDW-Government LLC	First Offer - \$42.24	5 / each	\$211.20			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			

TEC2124576G1–02-43 Microsoft EA No. 80215742 - Upgrade: SDS-00003 - Al Builder Capacity GCC Sub Add-on 1M Service Credits							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$5,471.50	1 / each	\$5,471.50				
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$5,491.20	1 / each	\$5,491.20				
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

TEC2124576G1-02-44 Microsoft EA No. 80215742 - Upgrade: SEL-00001 - PowerAppsPlanGCC ShrdSvr ALNG SubsVL MVL PerUsr						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SHI International Corp	First Offer - \$218.86	3 / each	\$656.58			

County Commissioners				
Product Code:		Supplier Product Code:		Page 17 of 19
Agency Notes:		Supplier Notes:		
CDW-Government LLC	First Offer - \$219.65	3 / each	\$658.95	
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

TEC2124576G1-02-45 Microsoft EA No. 80215742 - Upgrade: PU3-00001 - VisioPlan2GCC ShrdSvr ALNG SubsVL MVL PerUsr							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$139.52	1 / each	\$139.52				
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$140.03	1 / each	\$140.03				
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					

TEC2124576G1-02-46 Microsoft EA No. 80215742 - Upgrade: QEJ-00003 - VSEntSubw/GHEnt ALNG SA MVL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$1,042.45	8 / each	\$8,339.60				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$1,046.20	8 / each	\$8,369.60				
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

TEC2124576G1–02-47 Microsoft EA No. 80215742 - Upgrade: QEK-00003 - VSProSubw/GHEnt ALNG SA MVL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$298.69	30 / each	\$8,960.70				
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$299.77	30 / each	\$8,993.10				
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

TEC2124576G1-02-48 Microsoft EA No. 80215742 - Upgrade: 9GS-00735 - CISSteDCCore ALNG LicSAPk MVL 2Lic woWinSvrLic CoreLic							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$205.26	92 / each	\$18,883.92				
Product Code:		Supplier Product Code	: :				
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$206.00	92 / each	\$18,952.00				
Product Code:		Supplier Product Code	: :				
Agency Notes:		Supplier Notes:					

TEC2124576G1–02-49 Microsoft EA No. 80215742 - Upgrade: 9GS-00135 - CISSteDCCore ALNG SA MVL 2Lic CoreLic							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$161.66	662 / each	\$107,018.92				
Product Code:		Supplier Product Code	e :				
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$162.24	662 / each	\$107,402.88				
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

TEC2124576G1-02-50 Microsoft EA No. 80215742 - Upgrade: 9GS-00136 - CISSteDCCore ALNG SASU MVL 2Lic CISStdCore CoreLic						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

SHI International Corp	First Offer - \$268.64	200 / each	\$53,728.00	Page 18 of 19
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
CDW-Government LLC	First Offer - \$269.61	200 / each	\$53,922.00	
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

TEC2124576G1-02-51 Microsoft EA No. 80215742 - Upgrade: 9GA-00611 - CISSteStdCore ALNG LicSAPk MVL 2Lic woWinSvrLic CoreLic							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$50.32	80 / each	\$4,025.60				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$50.50	80 / each	\$4,040.00				
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

TEC2124576G1–02-52 Microsoft EA No. 80215742 - Upgrade: 9GA-00313 - CISSteStdCore ALNG SA MVL 2Lic CoreLic						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SHI International Corp	First Offer - \$32.95	1096 / each	\$36,113.20			
Product Code:		Supplier Product Code:				
		Supplier Notes:				
CDW-Government LLC	First Offer - \$33.07	1096 / each	\$36,244.72			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TEC2124576G1–02-53 Microsoft EA No. 80215742 - Upgrade: H04-00268 - SharePointSvr ALNG SA MVL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$1,181.72	9 / each	\$10,635.48				
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$1,185.97	9 / each	\$10,673.73				
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

TEC2124576G1-02-54 Microsoft EA No. 80215742 - Upgrade: 359-00961 - SQLCAL ALNG SA MVL UsrCAL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SHI International Corp	First Offer - \$33.20	5 / each	\$166.00			
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
CDW-Government LLC	First Offer - \$33.32	5 / each	\$166.60			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

TEC2124576G1–02-55 Microsoft EA No. 80215742 - Upgrade: 7JQ-00343 - SQLSvrEntCore ALNG SA MVL 2Lic CoreLic							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$2,185.74	53 / each	\$115,844.22				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
CDW-Government LLC	First Offer - \$2,193.61	53 / each	\$116,261.33				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

TEC2124576G1-02-56 Microsoft EA No. 80215742 - Upgrade: 228-04433 - SQLSvrStd ALNG SA MVL						

		Exhibit 1			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Page 19 of 19
SHI International Corp	First Offer - \$142.76	1 / each	\$142.76		
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
CDW-Government LLC	First Offer - \$143.27	1 / each	\$143.27		
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

TEC2124576G1-02-57 Microsoft EA No. 80215742 - Upgrade: 7NQ-00292 - SQLSvrStdCore ALNG SA MVL 2Lic CoreLic							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SHI International Corp	First Offer - \$570.03	58 / each	\$33,061.74				
Product Code:		Supplier Product Code:					
Agency Notes:	Supplier Notes:						
CDW-Government LLC	First Offer - \$572.08	58 / each	\$33,180.64				
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					

TEC2124576G1-02-58 Microsoft EA No. 80215742 - Upgrade: J5U-00004 - Azure Prepayment - US Gov							
Supplier		Unit Price Qty/Unit Total Price Attch. Docs					
SHI International Corp		First Offer - \$0.00	1 / each	\$0.00			
Product Code: Supplier Product Code:							
Agency Notes:			Supplier Notes:				
CDW-Government LLC		First Offer - \$0.00	1 / each	\$0.00			
Product Code: Supplier Product Code:							
Agency Notes:			Supplier Notes:				

Supplier Totals

f SHI Intern	national Corp	\$2,553,950.08 (80/80 items)	
Bid Contact	Din Bissoondial monica_white@shi.com Ph 407-325-7351	Address SOMERSET, NJ 08873	
Bid Notes	. •	of Sourcewell Contract #081419-SHI. The terms of supersede the terms and conditions of the RFP.â	
Agency Not	es:	âœSHI is responding to this RFP under the	Head Attch:
f CDW-Gov	ernment LLC	\$2,560,461.85 (80/80 items)	
Bid Contact	Gina Sperando ginaspe@cdwg.com Ph 312-547-2374	Address 120 S. Riverside Chicago, IL 60606	
Agency Not	es:	Supplier Notes: Head Attc	h: